
INSTALLATION MANUAL 

Made in the USA AC-FF-101-F-JLA / AC-FF-102-F-JLA 

Description Quantity 

Driver side style brackets 7 

Passenger side style brackets 7 

Anti-seize packet 1 

1/4” - 20 nylock nut 2 

1/4” - 20 stainless steel washer 2 

1/4” - 20 X 5/8” flanged bolt 58 

1/4” aluminum nutsert 28 

Tools Required 

10 mm socket 7/16” socket 

1/2” socket 

**Optional for quicker install 

Torx Gun with 
adapters 

Heavy Duty Torx Gun 
with 1/4” or 3/8” driver 

FENDER FLARES COMBO 

Brackets 

https://www.carid.com/rock-slide-engineering/


d1 d2 d3 

d4 

d5 

d6 
d7 

P1 

BRACKET INSTALL LOCATIONS 
P2 P3 

P4 P5 
P6 

P7 

d1 d2 d3 
D4 D5 

D6 
D7 



Step 2 

Start on the driver side, front fender. 

Install 1/4” - 20 aluminum nutserts into 

the factory holes in the locations shown 

using a nutsert tool: seven total. 

Between the two factory brackets, 

install into the three factory holes. 

Below the vent, install into four of the 

factory holes as shown. 

- Below- Shown without nutserts

Step 1 

Remove factory fenders.  You will not re-use anything from the factory fenders except the inner fender flares. 



Step 3 

With all the nutserts installed on the     

driver side front panel of the vehicle, 

start with bracket D1 and mount it at 

the front of the vehicle as shown using 

two flanged 1/4” - 20 bolts through the 

front brackets.  Install loosely. 

Install bracket D2 between the two 

center factory mounts as shown using 

three flanged 1/4” - 20 bolts.     

Tighten down bolts. 

Step 4 

Following the sequence of brackets, 

install D3 & D4 onto the rear portion 

of the driver side front panel. 

D3 bracket will be installed close to 

the vent using two 1/4” - 20 bolts. 

Tighten down. 

D4 bracket will be installed on the 

lower portion of the fender well.     

Use two 1/4” - 20 bolts. Tighten down. 

Torque 1/4” bolts to 9 ft. lbs or 76 in. 
lbs.  

Step 5 

With the brackets installed, trim the inner fender flare to fit back into the wheel well. 

This step may require additional customization and  

trimming depending on shocks, wheels, and other factors. 



Step 7 

Step 6 

Install the fender flare onto the    
brackets.  Route the wiring harness up 
above the factory brackets towards the 
rear of the jeep.   

Install 1/4” - 20 flanged bolts into D2, 
brackets loosely into that were previ-
ously mounted.  This will hold the 
fender onto the jeep. 

Step 8 

Install 1/4” - 20 flanged bolts loosely 
into the D3 and D4 brackets locations. 

Install 1/4” - 20 nut and bolt into the 
D1 bracket to hold the bracket to the 
fender flare.  Install loosely. 

Double check to ensure all bolts and 
been installed into the brackets and 
everything is loose. 



Step 11 

**You may need a 2nd person for this 
step** 

Pinch the bracket and the fender flare 
together under the fender flare.  This 
will close the gap.. 

Tighten down the 1/4” - 20 bolts on the 
bracket to hold the gap while you are 
applying pressure. 

Repeat the process on each bracket 
location until the gap is closed and the 
weather stripping is touching the body. 

Tighten down the two 1/4” - 20 bolts 
on the D1 bracket before tightening the 
1/4” nylock nut. 

Plug harness back into the factory 
plug. 

Step 12—Rear Fenders 

Install 1/4” - 20 nutserts into the rear driver side panel as shown: you will use seven total. 



Step 13 

Install the rear brackets as shown: 

D5 will be installed towards the front 

on the lower portion of the fender well 

using  two 1/4” - 20 flanged bolts.. 

D6 will be installed on the top of the 

fender well using three 1/4” - 20 

flanged bolts. 

D7 will be installed at the rear of the 

fender well on the lower portion using 

two 1/4” - 20 flanged bolts. 



Step 16 

Step 15 

Install rear fenders onto the brackets by 
sliding them towards the jeep and up.  

The fenders do not sit on the brackets, 
but go underneath them. 

Step 17 

Use two 1/4” - 20 flanged bolts for 
each bracket (6 total) to hold the fender 
in place.  Do not tighten down, but 
leave them slightly loose 

Using the same technique as on the 
front fenders, apply lateral pressure 
towards the jeep on the fender flare to 
close the gap.   

Tighten the 1/4” - 20 bolts down while 
applying pressure to eliminate the gap 
between body and fender flare. 

Repeat on the Passenger Side 

Learn more about fender flares we have.

https://www.carid.com/fender-flares.html



